
Stammfunktion Funktion (=Definition) Ableitung∫
sin(x) dx = − cos(x) sin(t) :=

√
1− cos2(t) sin′(x) = cos(x)∫

cos(x) dx = sin(x) cos(x) := arccos−1(x) cos′(x) = − sin(x)∫
tan(x) dx = − log(cos(x)) tan(t) = sin(t)

cos(t)
tan′(t) = 1

cos2(t)
= 1 + tan2(t)∫

cot(x) dx = log(sin(x)) cot(t) = cos(t)
sin(t)

cot′(x) = − 1
sin2(x)

= −1− cot2(x)∫
log(x) = x · log(x)− x log(x) :=

x∫
1

dt
t

log′(x) = 1
x

loga(x) := log x
log a∫

ex dx = ex ex := log−1(x) (ex)′ = 1
log′(t)

= 1
1
t

= t = ex

Stammfunktion Funktion (=Definition) Ableitung∫
arcsin(x) dx = x · arcsin(x) +

√
1− x2 arcsin(x) := sin−1(x) arcsin′(x) = 1√

1−x2∫
arccos(x) dx = −x · arcsin(x)−

√
1− x2 + π·x

2
arccos(x) :=

1∫
x

1√
1−t2

dt = arccos′(x) = − 1√
1−x2

= x
√

1− x2 + 2
1∫
x

√
1− t2 dt∫

arctan(x) dx = x · arctan(x)− log(x2+1)
2

arctan(t) = tan−1(t) arctan′(x) = 1
1+x2∫

arccot(x) dx = −x · arctan(x)− log(x2+1)
2

+ π·x
2

arccot(t) = cot−1(t) arccot′(x) = − 1
1+x2

Stammfunktion Funktion (=Definition) Ableitung∫
sinh(x) dx = ex

2
+ e−x

2
sinh(x) := 1

2
(ex − e−x) sinh′(x) = cosh(x)∫

cosh(x) dx = ex

2
− e−x

2
cosh(x) := 1

2
(ex + e−x) cosh′(x) = sinh(x)∫

tanh(x) dx = log[e2x + 1)− x tanh(x) := sinh(x)
cosh(x)

= ex−e−x

ex+e−x tanh′(x) = 1
cosh2(x)∫

coth(x) dx = log[e2x − 1)− x coth(x) := cosh(x)
sinh(x)

= ex+e−x

ex−e−x coth′(x) = 1
sinh2(x)

1


